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Th& H7]9] o] 2P A A F x = 27} Si7} H= AL BF H Q1Y
7]
@ (x+1)(x-2)=0 © x22-x-6=
© 2x2-5x+2=0 ® (x—1)2-4=0
@ x*-3x=0

14 @24 @34 @4  ©57A

22ke] WA x = 28 edsto] AT S 12H O,

©9] 271°]tt.




b2 — dac

2a
®o] ZAEH AU
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o2 o] APY A A ax? + 2bx + ¢ = 0 (a # 0)= F= FFo|tt. ©
)

~ @] Eo12 Ao] vtz 2ot A7 (&, b —ac >0

ax? +2bx+c=0(a#0)

5 2b c
X+ —x=--
a

(x+@)? =0

x=®+0®
2 2 _

D l% ® b 3 b 2ac
ab a\/b2—ac ¢
“a @ a2

5  2b c
37 P =R = ==y
a a
b2
o — & tistH
a
% b b? c b2
x+—x+—2=——+—2
a a a a
( b>2 b2 - ac
X+ -] = 5
a a
b2 —ac
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a
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6.

Tx—5<4(x+1)0]2 x= AA+ L o, x2 - 5x+6 =05 ZH?

@ x=0,x=1 @Dyx=2 @ x=2 x=3
@ x=3 ® x=-2,x=3

Tx-5<4(x+1) oA Tx—4x<4+5,3x<9.. x<3
webA] xo] e 1, 20]th,
¥ -5x+6=09l=x=2, x=302& §=x =27} Hr}.
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@ 24+5v21 @ 264623 ® 28+ 726

@ 32+5v3  G)sa+svz
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— 9] ol 12x & &Y

127737 2
X2 —4x-18=0

¥ —4dx+4=18+4

(x-2)2 =22
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a = o Zo|BZ o =2+ V22
L a® 4 4da =34+ 822
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@ 4x% - 4Ax

@ x2=0

@xQZx(x—l)—él

x(x+1)

® 3x(x+1)
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10. oA FA 3(x-4)2 = (x+2)(x—7) Zax’ + bx+c =02 EZ

oA~

et o, a + b+ ¢ & 3t2? (B, a > 0,a,b,c= AF)

@5 @4 O @i G4

B ~
3(x-4)2 = (x+2)(x-17)

3x% — 24x 4+ 48 = x*> - 5x — 14

2x2 - 19x+62 =0

a=2,b=-19, c =62

Lat+b+c=45




11, ©hg & olahgale?

D (x+2)2-2=1x2 @ x¥34+1=0
® 232 - (x-2)2 =42 @ 2x?-3x+1
@ +2)(x-0=0

(x+2)(x-4)=x>-2x-8=0




D (x+2)2-2=1x2 @ x¥34+1=0

®)2x% + (x—2)? = x? @ x?-3x+1

2242 —dx+4-x2=2x2-4x+4=0




13. A 2(x+2)2=x2-xZ AT X2+ bx+c =0 2] E2 Yehd
o, b o] 27

@ 7 @s @) @10  ®n

2(x+2)2=x>-x

2(x% +4x+4)=x>—x
2x2 4+ 8x+8-x2+x=0
¥ +9x+8=0
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14. o2 5 oA AA (x-2)(x+5) =0 o 35 LotH?

@ x=-2E=x=5

@X—QELX— -5

(x-2)(x+5) =0,
x—-2=00%

x+5=0,
wabA] x = 2 B x = -5 o[t}




15. o2 F olAMEAA (x-3)(x+7) = 0 o] & FoFH?

DO x=3E=x=7 @ x=-3E=x=7

@ x=-3EEx=-7 @XZ3E1—1:‘XZ—7

(-3a+7)=0,
x-3=0FE=x+7=0,
WehA] x = 3 = x = -7 o[th




